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QUESTION 1

XYZ Corporation would like a report that shows the number of employees who have been with the company more than
20 years, between 15 and 20 years, between 10 and 15 years, between 5 and 10 years, and less than 5 years. How do
you implement this report using Pega? 

A. Use a SQL Function. 

B. Use a listView with a custom getContent Activity. 

C. Use a correlated subreport. 

D. Use a Connect-SQL rule. 

Correct Answer: C 

 

QUESTION 2

MyCo.com has instances of SCM-F5, SmartDispute, and CPM-F5 in their Production Environment distributed across
multiple Pega instances. A new business requirement states that users working in any one application cart create a
case in any other application. 

What is your recommendation to implement the new business requirement? 

A. Synchronize case creation with RFST services. 

B. Leverage database replication to communicate case creation. 

C. Implement Federated Case Management. 

D. Implement a parent case across multiple products. 

Correct Answer: C 

 

QUESTION 3

DRAG DROP 

Select and move the five steps required to implement single sign-on (SSO) authentication in a pega application to the
SSO authentication implementation steps column. (choose five) 

Select and Place: 
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Correct Answer:  

 

QUESTION 4

Finco corporation uses pega to perform the majority of the mortgage underwriting tasks. 

After gathering the initial data, the mortgage case pauses and waits for the credit report. 

The credit report is a separate case, located in the same class group as the mortgage case, and typically resolves within
24 hours. After the credit report is complete, the application routes the mortgage case to the specialist. 

Which of the following options is the optimal solution to route the mortgage case to the specialist when the credit report
is complete? 

A. Add a wait shape to the mortgage flow with a case dependency to advance the mortgage flow to the next assignment
when the credit report case is resolved. 

B. Insert a credit report assignment in the mortgage flow with a SLA to check the status of the credit report case and call
the ResumeFlow activity when the credit report case completes. 

C. Include a split join shape in the mortgage flow to include the credit report flow. Use the All option on the split join
shape to ensure the credit report is complete before routing to the specialist. 
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D. Modify the credit report flow to move the mortgage case to the specialist. The application routes the assignment to
the specialist with the least amount of work. 

Correct Answer: A 

 

 

QUESTION 5

Which three actions do you recommend to address their performance issue and ensure optimal application performance
in the future? (Choose Three.) 

A. Dedicated a node to background processing. 

B. Review application environment sizing. 

C. Remove embedded dashboard reports from the manager portal. 

D. Minimize the usage of robotic automations. 

E. Review selection criteria of agent activities. 

Correct Answer: ABE 

Explanation: Six weeks after you deliver your application to production, you users report that the application slows down
in the afternoon. The application is almost completely unresponsive for some users shortly after 3:00 P.M. Other users 

do not experience this problem until later in the day. 

You do not have access to the Production environment, but you do have access to AES. The production environment
has three nodes and a load balancer. You need to resolve this issue because a new division of the organization will
start 

using the application next month. 
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